Chapter 11 Problem IV (+1)



Name _____________________

Show all work to receive full credit!

30. Use the standard heat of formation to calculate the (H0 for these reactions.

a) Br2 (g) ( Br2 (l)
b) CaCO3 (s) ( CaO (s) + CO2 (g)
c) 2 NO (g) + O2 (g) ( 2 NO2 (g)
32.  Calculate the (H in kJ for the following reaction:

2 Al (s) + Fe2O3 (s) ( 2 Fe (s) + Al2O3 (s)

Given:  2 Al (s) + 1 ½ O2 (g) ( Al2O3 (s)    
(H = -1669.8 kJ

  2 Fe (s) + 1 ½ O2 (g) ( Fe2O3 (s)  
(H = -824.2 kJ

35. What happens to the sign of (H when the reverse of a chemical reaction is written?

56. A considerable amount of heat is required for the decomposition of aluminum oxide.

2 Al2O3 (s) ( 4 Al (s) + 3 O2 (g)
(H = 3352 kJ

a) What is the heat change for the formation of 1 mol of aluminum oxide from its element?

b) Is the reaction exothermic or endothermic?

57. Calculate the (H for the reaction:

PbCl2 (s) + Cl2 (g) ( PbCl4 (l)
Given:  Pb (S) + 2 Cl2 (g) ( PbCl4 (l)
(H = -329.2 kJ

  Pb (s) + Cl2 (g) ( PbCl2 (g)

(H = -359.4 kJ

